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1 HA 3 A 117 2457 0.000 o5t
2 2R A7 121 2420 0.001 ojgt
3 A7 A 11.6 2436 0.000 2l
4 FARA 1L5 2415 0.001 ojgk
5 EREER] 12.3 4305 0.003 il
6 297 WET 116 406 0.002 olgh
7 H78 WET 12.3 430.5 0.004 w5k
8 S PR3 Ru S e 193 430.5 0.004 o5k
9 AAZFAEW 12.2 1220 0.001 vk
10 AT HA(H ) 12.3 1230 0.001 o5
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1 =73 Al 11.7 2457 0.000 o|gk
2 B 7 A 12.1 2420 0.001 ojgt
o B2 7 A 11.8 2419 0.000 w|gk
4 FEAZAA 11.6 2436 0.001 ojgt
5 4] A A 123 430.5 0.003 m)gk
6 23 &1 12.3 430.5 0.002 o| gt
7 Lot ET2 12.2 427 0.004 o) qk
8 ZAAAFH(ESY) 12.3 1230 0.001 o|gt
9 H71 SR SR F 12.3 430.5 0.004 ks
10 A ZAFEH (A 11.5 1207.5 0.001 u|qk
11 H 7| &8tET 12.3 430.5 0.004 o5t
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1 B2 3 A 12.3 2460 0.000 o)k
2 B 7 A 122 2440 0.001 )t
3 B2 73 A 11.8 2419 0.000 o|qk
4 B2 A 11.6 2436 0.001 ks
5 Hr7 2B B2 H 1925 4305 0.003 a1l

6 H7|EEAAAE 12.3 430.5 0.002 ks




